H & 0l & AHS B Ml A

SN COIFOfQI Tt
M LOISXSA(MEIER/ L0l - HAH)
gelr e M3 N (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
L OIZOH Q! 1t 267,446,671 247,584,580 19,862,091
= 170,802,609
Jl 504,304
= 20,691,075
Al 75,448,683
LSS (ALBI S/ el - HAad) 203,462,068 194,206,639 9,255,429
= 136,376,629
) 504,304
= 13,298,681
Al 53,282,454
= dg X2 193,619,554 185,354,888 8,264,666
= 134,742,854
Jl 146,284
= 12,591,132
Al 46,139,284
LOIEESSMUIAAE (EX) 6,357,870 5,377,680 980,190
= 4,450,509
= 572,208
Al 1,335,153
307 el2to| & 6,357,870 5,377,680 980,190
= 4,450,509
S 572,208
Al 1,335,153
05 2IMRIE =3 6,357,870 5,377,680 980,190
O E=sSAEIA AL
6,357,870,000& * 14 6,357,870
= 4,450,509
< 572,208
Al 1,335,153
LolESSMUIA AN (XHA) 373,100 357,500 15,600
307 el2tol & 373,100 357,500 15,600
05 2I2tRIE =S 373,100 357,500 15,600
LoIBEESAHIA A
373,100,000 x 14 373,100
SHE - Y2 SSHE M AHIAA 292,569 265,697 26,872
Jl 146,284
= 43,886
Al 102,399
307 @20l & 292,569 265,697 26,872
Il 146,284
= 43,886
Al 102,399
11 AMEISXAIEEXS 292,569 265,697 26,872




2A:

L
I ;‘&'%IIE (ALZIEXI/ 01 - HAE)
gelr e M3 N (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSAHEQ - Z0i2 SSHEAMEIA AL
& 292,569,000 x 14 292,569
Jl 146,284
[ 43,886
Al 102,399
=3 Nes 150,341,511 142,289,846 8,061,665
= 120,273,209
[ 6,013,660
Al 24,004,642
301 LEIE NS 150,341,511 142,289,846 8,061,665
= 120,273,209
s 6,013,660
Al 24,004,642
01 Al 2E AL S(FREXM) 150,341,511 142,289,846 8,061,665
OPJESI= NI 150,341,511,000& *14] 150,341,511
= 120,273,209
= 6,013,660
Al 24,004,642
2o & A XA 16,500 16,500
201 2= 4,500 4,500
03 SHAI2 ] 4,500 4,500
Owolol & & B2 < #Al
4,500,000 * 14 4,500
301 EtE N = 12,000 12,000
11 HAIMHIXIZ S 12,000 12,000
Ow0lo] & JIESAF AR Al 24t
12,0002 %1,000& 12,000
2 &K 492,000 465,000 27,000
307 21201 & 492,000 465,000 27,000
04 QIZHHAMAIH 2 £ 492,000 465,000 27,000
OZZ SOTR| BA}
492,000,000& x14] 492,000
22 MSUHE 8,000 8,000
307 elztol & 8,000 8,000
04 QIZHHAMAMH 2 & 8,000 8,000
oozal d&XFOI0IEE S) Hal
8,000,000& 14 8,000
Colgntel & ASIESXIE EH(EX) 20,038,273 18,925,948 1,112,325
= 10,019,136
= 3,005,741
Al 7,013,3%
101 @124H| 6,028,000 6,006,000 22,000
= 3,014,000
& 904,200




SN COIFOfQI Tt
M LOISXSA(MEIER/ L0l - HAH)
gelr e M3 N (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 2,100,800
04 JIZtNZ22 XS 2+ 6,028,000 6,006,000 22,000
OLQIASIZ2#SKIE BEXAIY WA 2I2A4H|
5,940,000,000& *14] 5,940,000
= 2,970,000
= 891,000
Al 2,079,000
OLQABIZENR BRAL BOIK BES
g 40,0003 x200& «11& 88,000
= 44,000
= 13,200
Al 30,800
201 et 3| 229,120 251,120 22,000
= 114,560
= 34,368
Al 80,192
01 AtR2t2|HI 229,120 251,120 22,000
OLOIANBIEENR BEAY F2 20HAY|
229,120,000 *14] 229,120
= 114,560
= 34,368
Al 80,192
202 04| 2,880 2,880 0
= 1,440
= 432
Al 1,008
01 =LHOHI 2,880 2,880 0
O QA ESXIE BEXAMY =X WHI(S
2, &) 60,0002 x4 x123] 2,880
= 1,440
= 432
Al 1,008
301 EetE2 N = 40,000 40,000 0
= 20,000
= 6,000
Al 14,000
11 #AIAMHIXIE S 40,000 40,000 0
OLQASESXIR BXAIY HHX nS(
2He8]) At 10,0002 *2,000E <22 40,000
= 20,000
= 6,000
Al 14,000
307 gl2to| & 13,738,273 12,625,948 1,112,325
= 6,869,136




FA I OoNel 1t
M LOISXSA(MEIER/ L0l - HAH)
gelr e M3 N (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 2,060,741
Al 4,808,3%
10 Al SXAEEHE2EHI2x 1,024,062 975,156 48,906
O QA 2SI A QizZtdD|2t Mg
o8 olAt| 1,024,062,000& » 141 1,024,062
= 512,031
< 163,609
Al 368,422
1 AMEISXAEEXS 12,714,211 11,650,792 1,063,419
OglRt=ay| 2t LoIAR| 2 SIJ A
12,714,211,000& * 14 12,714,211
= 6,357,105
== 1,907,132
Al 4,449,974
Coldxiel & AtRES X S (XHA) 2,929,004 2,538,184 390,820
101 @124H| 2,783,250 2,399,490 383,760
04 JIZtN2 2N S+ 2,783,250 2,399,490 383,760
OLASIZS A3 NHAIE EH A 21|
270,000 %1, 1352 +90H & 2,758,050
OoAEI2SKIE TMHAIY S0 E&
g 40,0002 x70H«Q0H 25,200
201 er23 | 86,904 86,904
01 At2teltl 86,904 86,904
OLQIARIE2SAIE =& AtR2]
86,904,000 x 14 86,904
203 =4l 2,000 2,000
03 A=A PR FX| 2,000 2,000
Oelgditel Az
2,000,000 *14] 2,000
301 LELE NS 34,050 29,390 4,660
11 dALEEIXIZE S 34,080 29,390 4,660
OLQIMnsEsSXI 20 WF(2E3]) o
Bl 10,000%4+3,405% 12 34,050
307 el2to| & 22,800 20,400 2,400
02 2IZHBYAIHE £ 22,800 20,400 2,400
OLCAIZSAI2AAMNY 2IZt=sl)| 2 Mg
oy NE=¢ 50,0002 x38H 122 22,800
O==AILINE2E 2<% XI&(<HI) 336,480 296,480 40,000
[ 100,944
Al 235,536
307 glztol & 336,480 296,480 40,000
= 100,944
Al 235,536
05 21t =S 330,000 290,000 40,000




SN COIFOfQI Tt
M LOISXSA(MEIER/ L0l - HAH)
o == 4= NH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAlLIoIZ2E 22HI(<HI)
330,000,000 x 14 330,000
= 99,000
Al 231,000
10 AlRISXAZEE 22X 6,480 6.480 0
OAILIIZE SAA S8
6,480,000 * 14 6.480
< 1,944
Al 4,536
O==AILIG2E 29 X (XHA) 80,600 56,500 24,100
201 Ler23| 40,800 0 40,800
01 At2teltl 40,800 0 40,800
O ==AILIEE 2Xte XN&H
40,800,000 * 14 40,800
307 @I2to1 & 16,500 56,500 40,000
05 git?(& = 16,500 56,500 240,000
O==AlLIOIZE =& A&
16,500,000 * 14! 16,500
405 AHaHE S 23,300 23,300
01 AL =S F = 23,300 23,300
OOi==AILIGZ2E 4,2 22l X3
20,000,000& x 14 20,000
OW==AILIGEE ddI| X1 X2
3,300,000 %14 3,300
LRI QAL 11,353,599 13,765,525 A2,411,926
< 2,799,517
Al 8,564,082
101 @124H| 19,302 18,664 638
M ORIMZZ2NSE S 19,302 18,664 638
ORI I - 3l XMl =0IAE 19,302
S =] 76,9603 x 1«52 #3655 13,468
oFsadg 76,9603 x1& »365= 2,6%
clEzs BdE
6,080 x1H+6& *363= 1,277
oMBIEER 1,863,000 14] 1,863
201 Ler23| 9,280 2,880 6.400
01 At2teltl 2,880 2,880 0
Odgt+==H| 480
oAl 1212 NIFAARIAS] N
z NREBPY(H40E)
80,0002 *62] 480
Oo=2g=+d 2,400
o0==Al FIIQIIANEHAREE 2
o &g 100,000& 4 & »63] 2,400
03 A= I 6,400 0 6,400
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FA I OoNel 1t
M LOISXSA(MEIER/ L0l - HAH)
o == 4= NH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 27,510 30,440 2,930
O'HAA dE 5=
27,510,000& x 14 27,510
307 gl2to| & 189,549 172,459 17,090
=S 20,232
Al 169,317
02 QB HANEER 72,000 74,000 22,000
OAlLIoigde 24 10,000,000& * 14! 10,000
< 3,000
Al 7,000
Ol AIE2SXEAY FE & SHOHAI
K (CHEI QIS KI==AlIXIZI)
12,000,000 » 14 12,000
OME =0 2|0E WS
6,000,000 *14] 6,000
OLEJl Atelll= 3,000,000& *14] 3,000
O LA 3,000,000& *14] 3,000
OLdEJl XNFAte Us8s
3,000,000 *14] 3,000
o=Rdrolls 29 18,000,000 x 14 18,000
Od= Z22¢ 2 u=x
13,000,000 * 14! 13,000
Ok =2 HMFA 4,000,000 14 4,000
03 2 HEE=2SHIEx 48,620 40,760 7,860
Oliet=213] H==AlXlzl 23| 38,900
oMNS=Y 12| 33,600,000 * 14! 33,600
olfet=elgl Xtg 2|
5,300,000 * 14 5,300
Otetcel3] o=AlKlel SHs=2 A&
9,720,000& 14! 9,720
IPV-ENEEES 68,929 57,699 11,230
OAZ =I5l #u3 22|
68,929,000 x 14! 68,929
== 17,232
Al 51,697
ozd o=SE0E 15,000 15,000
307 elztol & 15,000 15,000
04 QIZHHAMAIRH 2 X 15,000 15,000
oozdl o=g0tg 15,000,000 * 14| 15,000
Lol o8 23| RFAY 7,400 9,150 21,750
= 2,220
Al 5,180
301 EetE2 N = 7,400 9,180 A1,750
s 2,220
Al 5,180
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FA I OoNel 1t
M LOISXSA(MEIER/ L0l - HAH)
gelr e M3 N (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OnsdXZ0Ie =S R AT AL
109,080, 000& 14 109,080
= 32,724
Al 76,35
HELZHFHE 23 447,189 411,919 35,270
101 21AH| 234,801 228,161 6,640
04 JIZtNZ2Z2XNS 2 234,801 228,161 6,640
ONSXEZSHFHEH 2E 234,801
o2y 76,9603 x7 B +5H x52%= 140,068
oxg g 76,9601 7% 527 28,014
oMEeT BAELL
6,080 *7 H+6& +525= 13,279
oARIEEE 18,440,000 * 14| 18,440
SRS 35,000,000 *14| 35,000
201 er23| 129,028 98,398 30,630
01 At2teltl 29,148 27,148 2,000
Y=l all 29,148
o@IIpIE Bl SIS
500,000& * 128 6,000
oXkE FIILH BIILA
1,500,000 *14] 1,500
od=J| 2l 25,5002 +8CH* 122 2,448
oBIEA HIEl 22|
12,5002 x18CH* 122 2,700
o3J|EEI| 22l
15,0002 <20 =12 360
o8TA S HAEE 7Y
50,000 *6IH 2-+52] 1,500
CSYA(SIN - HEEHR)2E 7Y
50,0003 6 A+ 122 3,600
o)) B4EY 2=z
220,000 «1CH* 122 2,640
CROISHLAIL |
200,000 122 2,400
ocaUAE AS)|s H4 & SE§ILEL
3,000,000 %14 3,000
oFd MRES 7Y 300,000 %102 3,000
2 S5=2g4l 99,880 71,250 28,630
O=32= # HAl 31,800
oMIIRS 1,200,000& 122 14,400
oMot 250,000& * 128 3,000
AL 25 900,000& * 128 10,800
ostRs 300,000 * 122 3,600
OAIZ&Hl sXbl 68,080




SN LoIZ0felD
M LOISXSA(MEIER/ L0l - HAH)
o == 4= NH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o ANEE3Hl =87l
30,000,000& »14] 30,000
SO Ha 130, 0002 *36CH 4,680
oEDSI|+ WAl 100,000 *10H 1,000
ool A 500,002/ #43] 2,000
o=E S HiEeA DY
10,0002 +730E *13] 7,300
oXAXYT HA 2O
1,000,000 %22 2,000
or2HA el 3,000, 00024 14! 3,000
oHA WO (E Y HEEY
2,000,000 *14! 2,000
o &I JIH. A |2l
10,000,000& * 14 10,000
SEHZZAIM SXIZ2)
1,500,0002 19 2 1,500
oCCTV RXAl2eldl 500,0002 x16CH*20% 1,600
oI AIJA AlE FXI2eld]
3,000,000 %14 3,000
202 04| 680 680
01 2L A LI 680 680
OZ=Z 8 ol 2 et #xor
85,0002 x2EH*x2 L +23] 680
206 MH=HI 2,000 2,000
01 MHZHI 2,000 2,000
O=2M #ZLH 2 MAIF WS
2,000,000 %14 2,000
301 eEtE N = 77,680 77,680
11 #AIAHIXIZ = 77,680 77,680
OO0Jt Z208 ZAIE
80,0003 182/ x52%= 74,880
Okeloztalol 24 1,000,000 #22] 2,000
Onzd ZAL 2453
10,0002 <20 #43] 800
405 AtatE = 3,000 5,000 22,000
01 ML ESFSHI 3,000 5,000 A2,000
ONESXEZSNFHH HIS &
3,000,000 *14] 3,000
LOISXIAIE XI& 7,346,078 6,822,890 523,188
= 627,875
Jl 368,020
== 578,149
Al 5,782,034
pcel SE=5=8 de & 244 X 160,000 140,000 20,000
= 42,000
Al 118,000




SN COIFOfQI Tt
M LOISXSA(MEIER/ L0l - HAH)
el ==XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 140,000 140,000 0
= 42,000
Al 98,000
11 AMEISXAIEEXS 140,000 140,000 0
O=s==% 298 A&
140,000,000 *14] 140,000
=S 42,000
Al 98,000
401 AIEHIZ R 0HYI 20,000 20,000
01 Al&HI 20,000 20,000
Oupt 23812 BESSH BFOIS IISEAA
& 20,000,000 %14 20,000
CAXS o2 HHE=SE 018 K 113,000 113,000
201 er23 | 5,000 5,000
01 Al 22| 5,000 5,000
OZ M Lol 227 olsy)
5,000,000& *14] 5,000
301 EtE NS 108,000 108,000
03 A 2H A4S (XL THH) 108,000 108,000
OZAXIY Lol HE=sE 287 X2
6,00021%2, 500 «240H*30f% 108,000
MHot=el SXAIE 2] 70,093 72,973 22,880
= 14,019
Al 56,074
301 LEtE N = 70,093 72,973 N2,880
= 14,019
Al 56,074
03 A2 E A0S (XL THH) 70,093 72,973 2,880
OMIt=I=XAIE 23|
70,093,000& *14] 70,093
< 14,019
Al 56,074
THOHZ QL ALAHHE AL 162,920 73,152 79,768
= 38,230
Al 114,690
301 EtE N = 152,920 73,152 79,768
= 38,230
Al 114,690
02 AR 2HHLFS(HAAS, XNLHE) 162,920 73,152 79,768
Ol AAHE AFS (500 2)
152,920,000 * 14! 152,920
== 38,230
Al 114,690
NSMASH N2 (B2 MY RE34) 1,312,050 895,050 417,000




SN COIFOfQI Tt
M LOISXSA(MEIER/ L0l - HAH)
el ==XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 368,020
Al 954,030
301 EtE NS 1,312,050 895,050 417,000
Jl 368,020
Al 954,030
01 Al EE AT Z(2DEXR) 895,050 895,050 0
OZzalgd 2a34(504)
895,050,000 * 14 895,050
Jl 368,020
Al 537,030
02 ARSI 2E AT S(FIANS, XLETHE) 417,000 0 417,000
H2AIL 223A(H)
417,000,000 x14] 417,000
COISXIAIE 2HAH| 1,095 1,642 AB4T
= 328
Al 767
307 el2to| & 1,095 1,642 NBAT
= 328
Al 767
11 AMISXAIEEX 1,095 1,642 AB4T
O QI UEAIE 2HAH|
1,095,000 *14] 1,095
[ 328
Al 767
COI=XAIE SAA SE€E 317,400 317,400 0
= 95,220
Al 222,180
307 el2to| & 317,400 317,400 0
= 95,220
Al 222,180
10 AlRISXAZEHE 22X 317,400 317,400 0
OLQQAAIE SAHN S8+
317,400,000 *14] 317,400
< 95,220
Al 222,180
A LesK2 AF 118,743 266,556 147,813
401 Al HIZL 01| 118,743 266,556 147,813
01 Al&HI 118,743 266,556 A147,813
OAEAD Lol=xX2 A
118,743,000 *14] 118,743
Lol=sxa 29 X (&) 81,080 65,290 15,790
== 21,674
Al 59,406
307 212+01™ 81,080 65,290 15,790




SN LoIZ0felD
M LOISXSA(MEIER/ L0l - HAH)
el =eIsXAE X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 21,674
Al 59,406
10 Al SXAEEHE2EHI2x 28,080 28,080 0
OIS BAR SEE(3HA)
90,0002 *26H « 12 28,080
= 8,424
Al 19,656
11 AMISXAIEEX 53,000 37,210 16,790
LoIsX2 T2 XA 53,000
ol eld2 Li2l (HAle I SI2)
31,000,000 * 14 31,000
= 7,750
Al 23,250
o # Hrd ZEEEZ Y Sd3tAY
(SH=eI=X2)
22,000,000 x14] 22,000
=S 5,500
Al 16,500
LoEx2 2% XA (KHA) 1,288,985 1,182,058 106,927
307 212+01& 1,157,603 1,168,588 10,985
05 2ItRIE = 1,157,603 1,168,588 10,985
O =Alcol=X2 28 X3
504,334,000 * 14 504,334
OsH==osA2 29 N3
454,553,000 * 14 454,553
OSH4LSNE 22 2
198,716,000 * 14! 198,716
401 Al HIZL S 0HYI 112,493 112,493
01 Al&HI 112,493 112,493
OS0i2Lol=T2 24 £ D
20,000,000& » 14 20,000
O ==Al-I =X 5201 Wi
85,000,000 *14] 85,000
OSSRk dLtgI| &1
7,493,000 * 14 7,493
405 AHaHE = 18,889 13,470 5,419
01 AL =S F=HI 18,889 13,470 5,419
OSH==LosA2 ARE BRE 7Y
18,889,000 » 14 18,889
SOE 0ISSA & SSd8EHE XS AE 74,000 72,000 2,000
307 @20l & 74,000 72,000 2,000
1 AMISXAIEEXE 74,000 72,000 2,000
OsUHE OIs=A & ossdE 24
cl NIEHAE 37,000,000 #2012 74,000
LoIEXAE JIs EZAY 40,000 215,000 A175,000




SN COIFOfQI Tt
A LSXSN(AEISX/ el - FAY)
oels SOISXAE X2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 40,000 15,000 25,000
01 Al&H| 40,000 15,000 25,000
OO0f==Al XIHHEA =0RIZSHE X6 0t
2 JISEUA(BOIE)
40,000,000 *14] 40,000
LORAANME(DISEY) &5 92,840 0 92,840
= 46,420
= 23,210
Al 23,210
402 QI2F X201 & 92,840 0 92,840
= 46,420
< 23,210
Al 23,210
02 QIZHXHZ AL E (01X THE) 92,840 0 92,840
OFIIQ&I|2 CCTIVAIA
92,840,000& » 14 92,840
= 46,420
[ 23,210
Al 23,210
FHAHSHHXNI =K 31,200 0 31,200
= 15,600
Al 15,600
402 2IZtA=01d 31,200 0 31,200
= 15,600
Al 15,600
02 RIENEASEZ (01 THR) 31,200 0 31,200
OFAHS (LI =TAIL) HHXIZTIAILR]
& 31,200,000 * 14! 31,200
= 15,600
Al 15,600
Z2Y gt 2 23X (EX) 1,131,709 1,152,630 220,921
= 565,855
< 169,756
Al 396,008
201 2= 24,930 24,930 0
= 12,465
=S 3,740
Al 8,725
01 AtR2t2|HI 24,930 24,930 0
OZ2g 234l NEAY 2&(8HH)=
24,930,000 * 14! 24,930
= 12,465
= 3,740
Al 8,725




SN COIFOfQI Tt
M LOISXSA(MEIER/ L0l - HAH)
oels SOISXAE X2 (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
301 LtENZ 218,579 239,500 220,921
= 109,290
== 32,786
Al 76,503
01 AR 2EHSHS(RNEXRTHE) 218,579 239,500 220,921
322 23 e
218,579,000 x14] 218,579
= 109,290
== 32,786
Al 76,503
307 212t01™ 888,200 888,200 0
= 444,100
== 133,230
Al 310,870
10 Al SXAIZEHE2EHI2X 888,200 888,200 0
OZ2¢ gt X
782,600,000 14 782,600
= 391,300
s 117,390
Al 273,910
OZz2¢ 4t XI&
105,600,000 * 14| 105,600
= 52,800
== 15,840
Al 36,960
2 Wited| 9 224X (XHA) 12,047 12,047 0
201 er23| 7,847 7,847
01 At2tltl 7,847 7,847
OZ2g 22| XZA 2& (B = (F0t
) 7,847,000 *14] 7,847
202 O] 4,200 4,200
01 2L AL 4,200 4,200
OZ2Y AHZA & JISEZAY &=
ol 20,0002+224+602 2,400
OZ2Y Lo E =3u=s
20,0003 38 »30 1,800
d2g 24| X& 918,120 918,120 0
= 162,008
Al 756,112
307 gl2to| & 918,120 918,120 0
= 162,008
Al 756,112
10 MEISXAIEHE2EHIEX 918,120 918,120 0
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oF
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Hlw

84,600
110,000
110,000

A25,400

225,400

HE
0l &y

1,063,400

130,000
130,000

933,400

933,400

Ofl &F2H

810,040
162,008

648,032

H

Al

108,080

1,148,000

240,000

240,000

200,000

40,000
908,000

908,000

130,000

62,000

20,000

30,000

12,000

221,000

200,000

21,000
87,000

20,000

20,000

12,000

5,000

30,000
240,000

200,000

20,000

20,000

- HyS

- SRA(3) - HIRAEY

- o

£A

bl XI&

30
0

2

R0

810,040,000& *14]

108,080,000& * 14!

401 AIZHIYL 20

01 Al&H|

o

n0
=|o

J

~

0
<

-

70

200,000,000& *14]

40,000,000& *10H 2~

201

F

~J
ol

402

130,000,000& * 14!

0
I

20,000,000 %104 2~

30,000,000 *10H 2~

12,000,000 * 10 A

200,000,000 »1H 2~

21,000,000& %1042

aJ
K
O

20,000,000 *10H 2~

20,000,000& %170 2~

12,000,000 * 100 A

5,000,000 170 2

30,000,000& %100 2

K

’M

200,000,000& *1H 2~

20,000,000 *10H 2~

20,000,000& *10H A




A olEolel D
Mz LOoIZXESE(ABI=Z2X]/ =0l - HAY)
S oIS XIAIE K& (SH &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
ogd 60,000
coEZRY P
15,000,000 *1JH A~ 15,000
oSlEHEEY B
10,000,000& *1JH 2~ 10,000
cE2IAIEZY B
10,000,000 *1JH A& 10,000
cHPNARY B4
10,000,000 *1JH A 10,000
oLigdRY B4
15,000,000& *1JH 2~ 15,000
O3t H 20,000
CHERRY P4(ZRH0)
5,000,000& * 100 2~ 5,000
oMBFRY B4
15,000,000 *1JH A~ 15,000
Oosds 16,000
CNACHIERZEY B4
16,000,000& *1JH A& 16,000
Os:Rs 25,000
oERPRY B4
25,000,000& * 10 2~ 25,000
Ofte s 12,000
oOMIABZE B4
12,000,000& *1JH A 12,000
OW&ES 20,000
oHNASSSOHIEHZY B
20,000,000& * 10 2~ 20,000
OREs 15,000
opsARy Pa
15,000,000 *1JH A&~ 15,000
d2Y #2435 29 197,436 199,212 N1,776
= 11,704
Al 185,732
307 2I12+0| & 197,436 199,212 N1,776
= 11,704
Al 185,732
10 AISISXAIEHAESIGHIEX 81,436 81,712 N276
OZZEY =3|Z2 )28 22|k 24|
58,522,000 & x 1A 58,522
& 11,704
Al 46,818
OZ2Y «=3|m2 72 22| 29I (XHHI)
22,914,000& = 1A 22,914
11 AISIEXAIEEX 116,000 117,500 A1,500
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SN LoIZ0felD
M LOISXSA(MEIER/ L0l - HAH)
ool ZEAY 2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oFAZ WHI(ESO)AY 2=
9,000,000 #53] 45,000
OAIZZEHl | 108,100
YD AES +HS |
10,000,000 *2JH 2 20,000
ogstEZd I, JIA, g =dRXH|
20,000,000& » 14 20,000
oAHAE ZHl B
20,000,000 *14] 20,000
o AEE ZAIBHHIZHCCTV) |22l
500, 00024 %307H 4 *30% 4,500
o (2F)EFI| fisae)
1,300,000 13| x 122 16,600
ocdHIBY FH ANLSFHI(0=HY)
6,000,000 14 6,000
ooy EHLEAIE FXI2CIHI
1,000,000 *20H A~ 2,000
otz SIEE QHEHE IIIIEE ¥
toletd A2
833,300& x22|* 123 20,000
206 M=l 24,326 20,926 3,400
01 MZH| 24,326 20,926 3,400
OFR2e] ¥(setd) RHDT M+=22 7
350, 000& #27H 2-#22] 1,400
Ogszd 2Z 28 MHEH| 10,526
oI 37,2002 *30H 1,116
ol FXE 250,0003 * 124 3,000
ogds 6,000 *100H 600
oLEDS 120,0002 +407K 4,800
ottng Y 5,000& »100E+ A 500
oY 3,000 *100EtA 300
oxJi2 Mol& HIESS(100216)
7,000 +302 210
Oztaz 2 23 200,000 x5 * 122 12,000
Odg38d =522 & Hiz7e
200,000& =22 400
405 AHatE = 100,000 201,500 A101,500
01 ML ESFSHI 100,000 201,500 101,500
O=29 #dlI(Setd) d=exiet 2
100,000,000 *14] 100,000
EIZE FHOIE NJAEY 163,300 306,900 143,600
307 @120l & 13,300 6,900 6,400
02 QB AANEE R 13,300 6,900 6,400
OZ3¥ FHOES A& (XIots) A0
23 N 400,000 <123 4,800
Ogssd =H0ts atsgAdl X
4,000,000& *14] 4,000




SN COIFOfQI Tt
M LOISXSA(MEIER/ L0l - HAH)
Cel: HEAY 22 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OYarZR FH0IS SEET HEAY (S
2H SFXH) 4,500,000 *14] 4,500
401 AIZHIX R0 150,000 150,000
01 AlZH| 150,000 150,000
OY2ABY ZHUIS(2FIT) FOISHAY
150,000,000 * 14! 150,000
SAAIE AL 1,437,000 684,000 753,000
= 1,005,900
= 129,400
Al 301,700
401 Al HIZ R 0HbI 1,437,000 684,000 753,000
= 1,005,900
= 129,400
Al 301,700
01 A28l 1,437,000 684,000 753,000
OZe32 St stE2 WH(3II1)
1,437,000,000& *14] 1,437,000
= 1,005,900
= 129,400
Al 301,700
IS SFMHH At 150,000 136,000 14,000
401 AlZHIZ SO 150,000 136,000 14,000
01 A28l 150,000 135,190 14,810
oD £/ || FR(3E) B4 - 22
SAt 100,000,000 * 14! 100,000
Ogs53d satd RF AU =4 SA
30,000,000& » 14 30,000
OSHSE =T AE 2 - 2U3A
20,000,000 *14] 20,000
ZOHR! SRS (A= R/FHAHEXR) 63,782,845 53, 168,561 10,614,284
= 34,425,980
== 7,392,3%
Al 21,964,471
ol MEoty X 47,061,928 39,3%4,710 7,707,218
= 29,322,837
= 4,879,365
Al 12,859,726
0l Moty 2 AE Xz 215,430 179,580 35,850
== 27,670
Al 187,760
201 =3 103,580 102,580 1,000
< 6,300
Al 97,280
01 At2teltl 94,030 93,030 1,000




SA I OoNel 1t
3 ZOH SNST(ARSA/HLAHSKIE)
cHRlr Hopel dEory XX (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Odit=3=H| 86,330
SHOIO! QIANA MK (B4 H)
200,000 %14 200
oTUAUSR ME PSR
42,000,000& *14] 42,000
[ 6,300
Al 35,700
o0 HAANL(FR) S 822 WA
1,000,000 %14 1,000
oBMNANST EXl 2
1,030,000 *14] 1,030
S AZEQ HXt HLHH HA MA
25,0002 »80% 2,000
oFOHQl IADNE AH A& M
0,000,000& %14 40,000
oAMNBIAMBII2 XNE HARIRE S5
NES 100,000 *14] 100
OfIgu=HI 7,700
SHOHQ AIAINE AOIH W=
3,500& 1,000 3,500
oY At=g 250,000 «1H*43] 1,000
cuSHl S 100,000 *1& *43] 400
SFNBEMHIA +2RAMAAS &
A =g 100,000 x2& x122] 2,400
oSNHIAMSII2 NE AR B4 -
g 100,000& x4 & *13] 400
02 S3=gHl 9,550 9,550 0
OZOMA=XIZE W S8
3,820& *2,5004 9,550
301 2eEN= 106,850 72,000 34,850
S 21,370
Al 85,480
03 AL 2 EH 263 (XL E) 106,850 72,000 34,850
OXMEHOHL! 2lZH| XA
106,850,000 *14] 106,850
= 21,370
Al 85,480
405 AtatE=H 5,000 5,000
01 TR =SFISHI 5,000 5,000
OHeItE=XE HE Boss 7Y
5,000,000 * 14 5,000
Z0e EXI10] WF 26,557 20,094 6.463
= 21,246
Al 5,311
301 EtE N = 26,557 20,094 6.463
= 21,246




SN COIFORQI D
3 ZOH SNST(ARSA/HLAHSKIE)
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 5,311
01 Al EE A S (2 RDEEMA) 26,557 20,094 6,463
OFMAZXRII| LT
26,557,000 * 14! 26,557
= 21,246
Al 5,311
MASHOHR! &EHl 2 ZAH X 5,336 5,33%6 0
= 2,668
== 800
Al 1,868
301 2= 5,336 5,336 0
= 2,668
= 800
Al 1,868
01 Al EE A S(FREXMA) 5,336 5,336 0
OMASZO MEHl L ZAHEl X
5,336,000 * 14 5,336
= 2,668
= 800
Al 1,868
oo =X 473,250 458,514 14,736
= 378,600
= 28,39%
Al 66,255
308 AtAIEHMSOIE 473,250 458,514 14,736
= 378,600
= 28,39%
Al 66,255
1 SIS0t EAS A 473,250 458,514 14,736
OFoHel 2l=dl X&H
473,250,000 * 14 473,250
= 378,600
= 28,39%
Al 66,255
gofelis =0 A= 9,234,843 9,000,096 144,747
= 6,464,389
= 831,136
Al 1,939,318
301 EtE N = 9,234,843 9,090,096 144,747
= 6,464,389
< 831,136
Al 1,939,318
01 AR 2EHSHS(RNEXRTH) 9,234,843 9,000,096 144,747
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A olEolel D
3 ZOH SNST(ARSA/HLAHSKIE)
2l HOHQ! MEory X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 4,900
=S 630
Al 1,470
Foieoty 4t XNEs X 10,000 10,000 0
301 2eEN= 10,000 10,000
02 MBI 2HHSFHS(HAANS, XLHE) 10,000 10,000
OBMRIIY B8 XB2
10,000,000 * 14 10,000
HeZoHe S AMHIA XA 209,705 172,140 37,565
= 52,426
Al 167,279
307 @120l & 209,705 172,140 37,565
=S 52,426
Al 157,279
11 ARRIS XA E X 209,705 172,140 37,565
OOIEZONRl EHT AHIA A 22|
209,705,000 x14] 209,705
< 52,426
Al 157,279
Zoje! 2sX=0 A 26,304,904 21,198,970 5,105,934
= 18,413,433
== 2,367,441
Al 5,524,030
308 XXM SOIA 26,304,904 21,198,970 5,105,934
= 18,413,433
== 2,367,441
Al 5,524,030
11 S [2S0 e YA AS A 26,304,904 21,198,970 5,105,934
OOl HEXY 0K
26,304,904,000& x14] 26,304,904
= 18,413,433
== 2,367,441
Al 5,524,030
B3S2EX SN 132,857 122,743 10,114
= 93,000
s 11,957
Al 27,900
308 AFAIEHMSOIE 132,857 122,743 10,114
= 93,000
= 11,957
Al 27,900
11 S| 2SO0 SHASAIE 132,857 122,743 10,114
OZQ EsExX IS X
132,857,000 * 14! 132,857




SN COIFORQI D
3 ZOH SNST(ARSA/HLAHSKIE)
Sl Hojel Moty X2 (SH &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
= 93,000
=S 11,957
Al 27,900
ZOHIESKE & FIHXIH 3,778,814 2,116,676 1,662,138
== 755,763
Al 3,023,051
308 XXM SOIE 3,778,814 2,116,676 1,662,138
= 755,763
Al 3,023,051
11 S 2SS & HASAIE 3,778,814 2,116,676 1,662,138
OZasXa = I
3,778,814,000& x14] 3,778,814
= 755,763
Al 3,023,051
LETHEAMLIA Ui XA 1,034,242 995,211 39,031
= 723,969
= 93,082
Al 217,191
308 AXIHMSOIA 1,034,242 995,211 39,031
= 723,969
= 93,082
Al 217,191
11 S| 2SS XA AIE 1,034,242 995,211 39,031
OgaMaEAblA X K&
1,034,242,0003 1] 1,034,242
= 723,969
= 93,082
Al 217,191
LEHEMEIA HIRH X2 (=) 194,400 97,200 97,200
=S 58,320
Al 136,080
301 22N = 194,400 97,200 97,200
< 58,320
Al 136,080
02 MBI 2HHSFHS(HAANS, KLHE) 194,400 97,200 97,200
OZLMEAMHIA HIRH XA (=)
194,400,000 * 14| 194,400
= 58,320
Al 136,080
AL EXE H=RH XA 13,135 12,119 1,016
= 9,19
= 1,182
Al 2,758
308 AHXIEMSOIH 13,135 12,119 1,016




SN COIFORQI D
3 ZOH SNST(ARSA/HLAHSKIE)
Sl Hojel Moty X2 (SH &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
= 9,1%
=S 1,182
Al 2,798
1 SJ2S0UetE 4R ASAI S| 13,135 12,119 1,016
ORI HI2H X2
13,135,000 * 14| 13,135
= 9,1%
= 1,182
Al 2,798
LM FE4E X 1,757 1,904 A147
= 1,230
= 158
Al 369
308 AXIHMSOIA 1,757 1,904 A147
= 1,230
= 158
Al 369
11 S| 2SS & AEAIE 1,757 1,904 A147
OYROHL 2RAE X
1,757,000 14 1,757
= 1,230
= 158
Al 369
2ET0HR FLHESAHHIA K 1,270,096 813,086 457,010
= 889,067
= 114,309
Al 266,720
308 AHXIEMSOIE 1,270,096 813,086 457,010
= 889,067
< 114,309
Al 266,720
11 SIS0t oA A A 1,270,096 813,086 457,010
ORIl FABEAHIA X
1,270,096,000& » 14 1,270,096
= 889,067
[ 114,309
Al 266,720
FAYE LEHSY SUSESAHEIA XIS 267,232 253,100 14,132
= 187,062
< 24,051
Al 56,119
308 XtXIEMSO0IE 267,232 253,100 14,132
= 187,062
S 24,051




SN COIFORQI D
3 ZOH SNST(ARSA/HLAHSKIE)
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 56,119
1 S| 2SS SHASAIE 267,232 253,100 14,132
OFAE LTSS LYUSHSALIA X
e 267,232,000 x14] 267,232
= 187,062
= 24,051
Al 56,119
oL e X2 (LerE-MeH 2Xtel) 931,456 931,456 0
= 465,728
= 139,718
Al 326,010
101 @12A4H| 931,45 931,456 0
= 465,728
= 139,718
Al 326,010
M IRINZZENSE 931,456 931,456 0
ozofldx x%(* 2L xrel)
931,456,000 x 14 931,456
= 465,728
== 139,718
Al 326,010
ZOHQI LTI XI& (AIZHHIZ Xte] ) 234,600 234,600 0
= 117,300
& 35,190
Al 82,110
101 @124H| 234,600 234,600 0
= 117,300
< 35,190
Al 82,110
M ORNZZ2NSE S 234,600 234,600 0
OF L K2l XI& (AlEM L Xt2l)
234,600,000& x14] 234,600
= 117,300
== 35,190
Al 82,110
ZoHIL el XI& (SXLXel) 977,401 977,401 0
= 486,200
== 145,860
Al 345,341
101 eI124d| 972,401 972,401 0
= 486,200
= 145,860
Al 340,341
04 JIZtN2 2N S 2 972,401 972,401 0




2A:

3 ZOH SNST(ARSA/HLAHSKIE)
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZ el RN (ZX LX)
972,401,000& » 14 972,401
= 486,200
[ 145,860
Al 340,341
201 Ler23| 5,000 5,000
01 At2teltl 5,000 5,000
OHFOHAIL Xl 2t 2B
5,000,000& *14] 5,000
ZESSHML XEE SSLAclAE 140,224 0 140,224
== 42,068
Al 98,156
101 e124d| 140,224 0 140,224
[ 42,068
Al 98,156
M ORIMZZ2NSE S 140,224 0 140,224
OzSSEM2 XESE SSLACIAY
140,224,000 *14] 140,224
= 42,068
Al 98,156
el EMosS =cldl A& 35,000 35,000
301 EetE NS 35,000 35,000
03 AR 2H A 6= (XLMHSA) 36,000 35,000
Ol EMols +clbl X
35,000,000 *14! 35,000
s NEE2 SHOIIHA 2Hl X 8.875 11,499 N2,624
= 2,219
Al 6,656
301 EtE N = 8.875 11,499 N2,624
= 2,219
Al 6,656
02 ANRI2HASFS(HAAS, XNLHE) 8,875 11,499 A2,624
OFMHIE NE-2 ot0IHA &I 2
Bl X 8,875,000 * 14 8.875
== 2,219
Al 6,656
LETOH ASUHLAILS 33,600 0 33,600
== 10,080
Al 23,520
301 EtE NS 33,600 0 33,600
= 10,080
Al 23,520
02 AR 2HALFS(HAAS, XLHE) 33,600 0 33,600




2A:

3 ZOH SNST(ARSA/HLAHSKIE)
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O F el ASULAI
33,600,000 x14] 33,600
= 10,080
Al 23,520
ZoHel SXAE & A A2 16,720,917 13,813,851 2,907,066
= 5,103,143
= 2,513,029
Al 9,104,745
HOAAFAIE 29 KA (EHI) 1,635,817 1,169,952 365,865
= 315,453
Al 1,220,364
202 04| 1,760 1,760
01 2K 1,760 1,760
OHMHU=XNEF =&
85,0002 x4 *43] 1,360
OHMHAAIE X=EH
20,0003 x2& x103] 400
307 elzto| & 1,534,057 1,168,192 365,865
= 315,453
Al 1,218,604
10 AlISXAZEHE 22X 1,534,067 1,168,192 365,865
OFHQ! SSMEIIE 2SHI(60HA) 333,600
SIE[EPJEL s 55,600,000 * 11 2 55,600
< 6,672
Al 48,928
o2z ¥ 55,600,000 * 100 2 55,600
= 6,672
Al 48,928
oHidlE 12 55,600,000 *1IH £ 55,600
== 6.672
Al 48,928
o= 25 55,600,000 * 11 2 55,600
= 6,672
Al 48,928
o0|Fel 12 55,600,000 *1IH 2 55,600
= 6,672
Al 48,928
=0|22l 25 55,600,000 * 11 £ 55,600
[ 6,672
Al 48,928
OZoHR! JHI2HAIE 2SHI(2HA) 846,267
oHE0 At Ol=
487,353,000 * 10 £ 487,353
=S 97,471




SN COIFORQI D
3 ZOH SANST(ARSA/HLAHSKIZ)
ol FOHOl SXIAIE L SR XY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 389,882
o+=s0H 357,914,000& *10H 2~ 367,914
== 71,583
Al 286,331
OOl HFAIE SAHL SE€+E
199,440,000 *14] 199,440
= 59,832
Al 139,608
ORI HFAIE EPAH|
3,800,000 *14] 3,800
S 950
Al 2,850
OZOHR HFAIL ElaTt ZIIFHES (G
Al&) 10,000, 000& »2H 20,000
= 6,000
Al 14,000
OgLHMe A==4H 28 X2
131,950,000 * 14! 131,950
< 30,585
Al 92,365
ZOHAMATHEAIL JIS2S 53,470 0 53,470
= 21,735
== 10,867
Al 20,868
401 AIEHIZ R 0HYI 10,000 10,000
01 Al&HI 10,000 10,000
O0l==Al 23t2 St "I got everything ; JI=
A E9H 10,000,000 * 14| 10,000
402 2I2F X201 & 43,470 0 43,470
= 21,735
< 10,867
Al 10,868
02 QI X2 AL EE(OIHTHE) 43,470 0 43,470
02023 ZONQUAATHEAIE JISEZAS
A& 43,470,000 *14] 43,470
= 21,735
< 10,867
Al 10,868
ZOHRIHFAIE 2 K& 6,147,744 4,892,561 1,255,183
= 4,303,421
[ 563,297
Al 1,291,026
307 glztol & 6,147,744 4,892,561 1,255,183
= 4,303,421
== 553,297




SN COIFORQI D
3 ZOH SANST(ARSA/HLAHSKIZ)
ol FOHOl SXIAIE L SR XY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 1,291,026
10 Al SXAZEE 22X 6,147,744 4,892,561 1,255,183
OFOHL! JHFAIE 2SHI(4H4) 6,147,744
oS 2,161,283,000& 104 A 2,161,283
= 1,512,898
= 194,516
Al 453,869
o JtLIA 1,729,674,00023 * 11 2 1,729,674
= 1,210,772
= 155,670
Al 363,232
oIS L 913,851,000 * 14 £ 913,851
= 639,696
= 82,247
Al 191,908
ozl 1,342,936,0002 10 2 1,342,936
= 940,055
= 120,864
Al 282,017
el e 29 55,600 53,550 2,050
== 11,120
Al 44,480
307 212+01& 55,600 53,550 2,050
< 11,120
Al 44,480
05 2IIRIE =3 55,600 53,550 2,050
OZoHe MEE 22HI(1HA) 56,600
oHEgE =29 55,600,000 *14] 55,600
= 11,120
Al 44,480
o ol=AlE 2 K& 6,623,274 5,614,926 1,008,348
< 1,128,016
Al 5,495,258
201 2= 8,400 12,800 A4,400
01 At22telt] 8,400 12,800 24,400
osy+rg 8,400
CHUALEXR +BNANIPINE F
o =g 100,000& «7&*123] 8,400
307 @20l & 6,614,874 5,602,126 1,012,748
s 1,128,016
Al 5,486,858
05 git?(&= 2,070,558 1,813,988 256,570




2A:

M ZOHQ SIS (ASSX/HAHSKIH)
ol FOHOl SXIAIE L SR XY (SHol: )
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
OIS =2 2Zd| K&
1,665, 169,000 171 2 1,665,169
& 249,775
Al 1,415,3%4
OOI%AIF QI SETIAME 2| N
184,549,000 14 184,549
O ==AIZOHIIIFXJHEH 22
220,840,000& x 14! 220,840
& 44,168
Al 176,672
10 AlSISEXAEHE2EHIEX 4,282,423 3,634,138 648,285
OXOHe! HATHEAISE 2HBI(4MHL) 1,744,943
oEFOIHAEL 786,574,0002 * 14! 786,574
= 141,583
Al 644,991
SH=AZMHIBSHAE
297,685,000& * 14 297,685
& 53,583
Al 244,102
oSZLHSER 345,654,0002 * 14! 345,654
= 62,218
Al 283,436
SH=ZOHRIHE S E
315,030,000& x 14! 315,030
& 56,706
Al 258,324
OXHel =2AEBSAIE 2HBI(5MHA) 1,570,025
o A0l JtSEH & 288,364,000& * 14! 288,364
= 43,255
Al 245,109
otESFel BRI F2tE S HEH
394,376,000& 14 394,376
& 59,156
Al 335,220
oXMZ2LIZ 319,457,000& * 14! 319,457
= 47,919
Al 271,538
=>&0|SH 277,339,000& x 14! 277,339
& 41,601
Al 235,738
oczdTUHESHIH
290,489,000 * 14 290,489
= 43,573
Al 246,916




SA I OoNel 1t
I el SXNSE (MISK/FHAHSKIH)
ol FOHOl SXIAIE L SR XY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OOI=AZ NSO SN AME =
274,325,000 x 14 274,325
= 54,865
Al 219,460
OO0i4AI401SHHE 2%
304,020,000 *14] 304,020
< 60,804
Al 243,216
OO0IAIZH 0Ol TRIXIRHE 22
170,295,000 *14] 170,295
= 34,059
Al 136,236
OBONQ! 0IBAIE BAX SEAG
124,200,000 * 14! 124,200
< 37,260
Al 86,940
OFLOI4AIHOISRIISNAME 2
94,615,000& x14] 94,615
= 18,923
Al 75,692
11 AMISXAIEEX 261,893 154,000 107,893
OFjOIZE =X 2 2224 Al
253,893,000 x14] 253,893
[ 76,168
Al 177,725
OZOR! +01DA S T2 29
8,000,000& *14] 8,000
= 2,400
Al 5,600
AN S HEX A XA 158,534 156,666 1,868
= 63,414
= 28,536
Al 66,584
307 gl2to| & 168,534 156,666 1,868
= 63,414
= 28,536
Al 66,584
10 Al SXAAEEHE2EHI2x 158,534 156,666 1,868
OW = NS HEHEH X2
158,534,000 *14] 158,534
= 63,414
== 28,536
Al 66,584
ZONQIXHE ME IR HE X (&HI) 268,000 221,100 46,900
= 53,600




SN COIFORQI D
3 ZOH SANST(ARSA/HLAHSKIZ)
Chel: HOjOI ZXIAIE L SHY X (Shol: % 2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 214,400
307 gl2tol & 268,000 221,100 46,900
=S 53,600
Al 214,400
10 MeISXAEHE2EHIEX 268,000 221,100 46,900
OXOHOIX & MEtHIE] XA (204 ) (&8I 268,000
oRtE A TONOI KR MEHIES
210,000,000& *14] 210,000
= 42,000
Al 168,000
S 0140 QI KF 21 A4 2 M
58,000,000 » 14! 58,000
== 11,600
Al 46,400
SHllAlE 2EX# 930,830 866,765 64,065
= 651,581
s 279,249
307 212t01d 930,830 866,765 64,065
= 651,581
& 279,249
10 Al SAAEEHE 22X 930,830 866,765 64,065
OBHIAIE (HSBIRYA) 2|
930,830,000& *10H 2~ 930,830
= 651,581
= 279,249
SHIAIE 2% X2 (&Hl) 21,960 21,960 0
& 6,588
Al 15,372
307 212t01™ 21,960 21,960 0
= 6,588
Al 15,372
10 Al SXAAEEHE 22X 21,960 21,960 0
OSHAIAI L (N LEOIR2kA) BALL S
g 21,960,000 & * 14! 21,960
=S 6,588
Al 15,372
ZOHQ! EHHl XI& (&) 120,000 123,000 23,000
< 36,000
Al 84,000
307 212t01™ 120,000 123,000 23,000
= 36,000
Al 84,000
02 QB EANSEEX 60,000 60,000 0




2A:

A e SXNSE(ASSX/FHLAHASKIH)
ol FOHOl SXIAIE L SR XY (SHol: )
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
OFoHe!l 22 Xw T2 KA
60,000,000 x 14! 60,000
== 18,000
Al 42,000
11 ARRIS XA E X 60,000 63,000 A3,000
OWdZe! Alastez T23 X
50,000,000& *14] 50,000
< 15,000
Al 35,000
O ARIEH RIZ28 XIR(
EeleT) 10,000,000 * 14! 10,000
= 3,000
Al 7,000
Zopel M X 174,550 149,750 24,800
307 212+01™ 149,550 149,750 A200
02 QA LAEE X 49,650 46,650 3,000
OXNHMZHASHZ ARG REE0L 2
& 4,000,000 * 14! 4,000
OUHHHA=SX A FAIK R SFEasia
29 5,000,000& 14! 5,000
OAIZIFNQI BI04 XI5 SRIAL 2
& 2,500,000 *14 2,500
O=s0lelgal=AlRle R8s 29
3,000,000& 14 3,000
OAZENLSE2H=XR REasd 2
3,000,000& *14] 3,000
OHMBHMLE2 H=AKR REa8L 2
& 1,500,000 *14 1,500
Oet=HMIEESF3H=AXE B2
Ala 29 1,500,000& 14 1,500
OXEE OlgzdAl & HIPDIS A
2,000,000& %14 2,000
OMIAHIZE eI & I E A
2,000,000 *14 2,000
OAlZEoHe!l &S X
3,600,000 14 3,600
O&d= HoHe! HoIESUa FIHKZ
900,000 *14] 900
Oy &M MESH AL It X2
1,200,000 *14 1,200
OAtgel &2 oZelz2s detg=0zl Al
el 3,000,000& 14 3,000
OXIME ISl & AL HIt X2
1,800,000 *14] 1,800
Osoterel & AL Fot X1
1,350,000 *14 1,350
Odg &ojelel & AL It X
5,000,000 = 14! 5,000




SA =l el
I el SXNSE (MISK/FHAHSKIH)
o9l ROjQl SXAIE L SR X2 (69 =)
5 IE
A - BB S9I(3) - HIRAY - BaS ol &t e HIDS
Ol JIs3IIthel I (H=, &)
2,700,000 *14] 2,700
OLZH EQESAMS (ZHHAS2HU)
5,600,000& *14] 5,600
03 LM EE2SHIEX 55,600 55,600 0
O(ADXIHMZEOIE S O==AlXIE 2]
12,000,000 * 14} 12,000
O(ADAHZ OIS RIZ H=AIXIR 22|
12,000,000& * 14 12,000
O(AAIZIZ NI AE S H4=XI2l 2EH]
6,600,000 * 14 6,600
O(Ah)=0tIEal t==AlXIZl 23|
14,000,000 * 14} 14,000
O EZMAES 2] X1
11,000,000& * 14 11,000
1 AMISXAIEEXS 44,300 47,500 A3,200
OXNHME OIS SAKE 23
5,000,000 * 14 5,000
O =2 SAAtE 2SI
5,000,000 *14] 5,000
s0telgel 0IS2E SAKE 2sX3
5,000,000 14| 5,000
OtlZze E4XE dElis At
5,000,000 * 14 5,000
SOrlEal =01g Mlata 280t At
6,000,000 *14] 6,000
OAIZZH BXtus 2208 28 A
2,600,0002 %14 2,600
O ZO0HRl Agr 23HOEZ0HR 0A &R
AFE 24d) 3,500,0002 *14] 3,500
OogHHel A2 23H(0FS0™)
3,200,000 14| 3,200
Oci&zohel gz 29 (Lel Kot
£ HO0IA) 4,000,000 14| 4,000
OgLHM Nzx2 08 X3
5,000,000& *14] 5,000
401 AlEHIZL SO 25,000 25,000
01 Al&ZHI 25,000 25,000
OHHI=A2 LIS HHASAA|
25,000,000& » 14 25,000
ZoHelel & AL 27,000 27,000 0
307 2I2t01 & 27,000 27,000
04 QIZHHAIAIH 2 £ 27,000 27,000
OFHRIS & JIE &AL
27,000,000 *14! 27,000
Zofel SEME gs N 19,000 19,000 0
307 212+01& 19,000 19,000 0




A R==t P10 ReTi
X

I el SXNSE (MISK/FHAHSKIH)
Chol: EOHOI SXAIL U Sl AR (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 2IHBHAIHE £ 19,000 19,000 0
Ol SHAHE =208 K& 19,000
S XNHMEML SHEHE
7,000,000 *14] 7,000
oAMEL! SHENE
3,000,000& *14] 3,000
SAZEL HEHE
3,000,000 *14! 3,000
os0lE3l H==AIKIR SEHE
3,000,000& %14 3,000
oMTEOL HEAME
3,000,000& *14] 3,000
Az Eofele & & 2,000 2,000
307 lztol & 2,000 2,000
04 2IZHHAIAIH 2 2,000 2,000
OAIZE 012 AHEIXIZOIS] &) &t
A& 2,000,000 %14 2,000
AZEO e SEHHE 6,300 6,300
307 @20l & 6,300 6,300
02 QB HANEER 6,300 6,300
OAZZ0j2! SB
6,300,000 * 14 6,300
Al =01 23HAl 6,500 3,500 3,000
307 glztol & 6,500 3,500 3,000
04 2IZHHALALS 6,500 3,500 3,000
OAE2l =01
6,500,000 *14] 6,500
OHRIAS=AIE BII 2,520 2,520 0
= 1,512
= 504
Al 504
307 elztol & 2,520 2,520 0
= 1,512
< 504
Al 504
10 MEISXIAIEHE 2,520 2,520 0
OFIHFAIE S| | XA
2,520,000 *14] 2,520
= 1,512
& 504
Al 504
ZOHQ EOIAlE EXIALY 102,932 27,050 75,882
= 22,765
Al 80,167
201 er2 3| 6,200 6,200 0




SN COIFORQI D
I el SXNSE (MISK/FHAHSKIH)
ol FOHOl SXIAIE L SR XY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 6,200 6,200 0
Odit==H| 200
SRHMEAl =& - A2 MF B
o M 200,000 %14 200
O=g=g 6,000
CRTOUTAl A - ADYIRAFI 32| AA
=g A= 100,000 x15E ~42] 6,000
202 04l 850 850
01 =LHAHI 850 850
OHOHl HIAAE ZXNAE =& 0]
85,0002 x5 *23] 850
307 21201 & 75,882 0 75,882
== 22,765
Al 53,117
02 LB HANHEE 75,882 0 75,882
OH2AIE A d=ZAL QF CI2H]
75,882,000& x14] 75,882
= 22,765
Al 83,117
401 AIEHIX R0 20,000 20,000
01 AlZH| 20,000 20,000
O0I+8 TOJOIFHAN QHYT 8% L &
g OHe Are 20,000,000 * 14! 20,000
el EDIHF(EZ)AIE 23] 371,914 357,645 14,269
== 55,787
Al 316,127
307 elztol & 371,914 357,645 14,269
= 55,787
Al 316,127
05 21t S 371,914 357,645 14,269
OFOe! EDIAHNF(ES)AE 22
371,914,000 * 10 £ 371,914
= 55,787
Al 316,127
JOHIHFAIE FL=E XEH 74,972 0 74,972
= 52,480
= 6,747
Al 15,745
307 @120l & 74,972 0 74,972
= 52,480
= 6,747
Al 15,745
10 Al SXAAEEHE 22X 74,972 0 74,972
OHMHFAE sedd N 74,972




SN COIFORQI D
3 ZOH SANST(ARSA/HLAHSKIZ)
ol FOHOl SXIAIE L SR XY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oA 29,989,000& 1744 29,989
= 20,992
== 2,699
Al 6,298
oL 17,493,000 * 100 &~ 17,493
= 12,245
== 1,574
Al 3,674
oHES A 12,496,000 * 104 2 12,4%
= 8,747
== 1,125
Al 2,624
SES =N 14,994,000 * 10 4 14,994
= 10,496
== 1,349
Al 3,149
ZOHRIFUESAIE JISE2ZTAY 18,000 0 18,000
= 9,000
s 4,500
Al 4,500
402 2I2F X201 & 18,000 0 18,000
= 9,000
= 4,500
Al 4,500
02 QI XHE AL E R (01X THE) 18,000 0 18,000
O2023F ZONQIF2HESAIE JISEZA(2
o) 18,000,000 * 14! 18,000
= 9,000
= 4,500
Al 4,500
YA HHI(= QIR (DIEHIIE}) 194,318 201,940 NT,622
el 2| 113,736 118,958 Nb,222
el 24| 113,736 118,958 Nb,222
101 @124H| 113,736 118,958 Nb,222
03 SR (RINHA) 222+ 113,736 11,759 1,977
OAlZRIZR4E 44,25
oIpAE
15,9753 * 1 +20 A1 2Hx 1200 2 x150% 5,751
o<LbAz
12,9483 x5 *20 Al 2++ 1200 2 +150% 23,307
o<ChHE 2
14,0723 <3 +20 A1 2t 1200 2 +150% 15,198
O ] 69,480
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